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1. MWMW#WWWWWW$WW mﬁ@am%m

You have been called for the written test based on the online data fumished by you in the web application.
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3. 9R fawedt wfga aedfees gaR & weet gl et @ % v anifdew w9 & @ g
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TFANATA-d - IAFENAT / Technician-B — Electrician

1. UH kWh Foll SaTe9T sU&T gidar &

One kWh of energy equals nearly

() 4.2k (b) 1000 W
(¢) 3.6 = 10°W (d) 860 keal

2 quifE 1 afiar e &7 fFa ot R a8 e &2

The eapacitance of a capacitor does not depend on
I

(n) oI &9 / Plate area (b) Wﬁ %I ghic / Nature of dielectric
(¢) <ol & AeE / Plate thickness (d) TRIT JUFHIOT/ Plate separation
3. &Fon fradr sHS 72

Tesla is the unit of

(a) YahIT FaTE / Magnetic flux

(b) HEhIT FATE U / Magnetic flux density
(c) TSR & FY &THAT/ Magnetic field strength
(d) ?_J’Tsﬁﬁ'ﬂ' 399 / Magnetic potential

4. U RIS I AT A A 10 ¥ R R Am

The rms value of a signal is 10. Then the peak value is

{a) 20 . (b) 11.1
(c) 14.4 (d) 32T AT/ Data inadequate

5. Y& IRTH AW Afhe #, A AHR 9T W didsr ¢ 3R Avd Wevew W A &,
rfafE & ¥ la o Fuaw @

In a pure RL series circuit, if VR is the voltage across resistance and VL is the voltage across
inductance, which of the following statement is correct?

(@) VL,VR & 90° 9% § / VL lags VR by 90°

(b) VL,VR ¥ 90° 31T &/ VL leads VR by 90°
(¢) VL, VR & Y AW %l A §/ VL is in phase with VR
(d) VL, VR & ¥ a9fid Far 7 &/ VL is in the opposite phase with VR

A 3 1490 -




6.

10.

ﬁmﬁﬁaﬁﬁmaﬁraﬁam*ﬁvamﬁﬁrmmﬁmm@

Two wattmeter method is used to measure the power of

(a) W Fages arg Ak el FJaes i A&l / Star connected load but not Delta

Connected load

(b) Seel FAFes g ofthd R FaFeE o a7 / Delta connected load but not Star

Connected load
() TR &1 3c¢T Fdcs w15/ Star or Delta Connected load

(d) Ul Feml 13/ Single phase load

aﬁwﬁmmwaw%ﬁﬁwﬂmzmvaaﬂta@ﬂamaﬁmzoov%a?
fafeas & -

The no load output voltage of a regulator is 990 V and the rated load voltage is 200 V. The
regulation is

(a) 10% (b) -10%
() 9.09% (dy -9.09%

ﬁwmﬁaﬁﬁwmaﬁa%

The generator having poorest voltage regulation is

(a) WS AT/ Series generator

(b) %€ SIfAT / Shunt generator
(e} & 4iff+ 77/ Long compound generator
(d) ©g e FATAF / Short compound generator

w220 Vde #IeX & I G0 0.10 %) afy feh fega s a@ 210 V & af A
m@iﬁﬂémmaﬁrﬁm

A 220 Vdc motor has an armature resistance of 0.1Q. Find the current drawn by the motor, if
the back emfis 210V

(a) 10A _ (by 220A
© 200A (d) 100A
wagaﬁmstﬁaﬁ?ﬁaﬁrHM$aﬂaw$mm%I
One coulomb of charge is equal to the charge of ————— number of electrons
(a) 101 (b) 1.6 x 101°
(©) 6.25% 1018 @ 1
4 1490




11.

13

1.

15.

16.

RCCB # RC &1 AdA &
In RCCB, RC stand for

(a) afdisg amr/ Residual current (h)y  37afdse eriar/ Residual capacitance
(¢) SR 4/ Released current () IR 41T/ Released capacitance

u-gaa:rfa:qmq.a:aﬁwﬁqm#amﬁwwmwuaﬂ%ﬁﬁ?ﬁaﬁﬂﬁﬁ%

The faet thit conductor enrries more current on the surface compared to core of a conductor is
known s

(a) cadr 9amg / Skin clfect (b)  FIUT/ Corona
(¢) #&Ha13a1 / Breakdown (d) f&Famst / Discharge

WISt AR & A §

I'use wire is made of

(n) dr&r/ Copper (b) T/ Silver

(c) #TShIE / Nichrome @) fea-drar A a1/ Tin-lead alloy

aﬁmﬁ&rwq&t#g@q&wr@m%laﬁmmmﬂwﬁéwwﬁmm
ar maRt & &g g9

‘Two charges are placed at a distance apart. If an insulator like mica is placed between them,
the force between the charges will

(a) |/ Increase (b)  FA g/ Decrease

(c) @& @ / Remains the same @ gEEa SITAT / Become zero
favor TEeER IH @R W —— — fawrd & 51 & R

The distribution transformer is generally connected in . configuration.
(a) 3Fel-¥CR / Delta-Star (b)  Zeer-seel/ Delta-Delta

(¢) TR-3¢¢T / Star-Delta (d) =AH & A FE1/ None of these

fegd T $ PR & foT I sugEd Fel

The most suitable material for the core of an electromagnet

(a) ofiar/ Copper (b) T/ Steel
(¢) carFeat ¥rd / Tungsten Steel (d) & T/ Soft iron
5 1490



17.

18.

19.

21.

i 1 B I T 7S el A 200 W § HR IR Fe FT AIFA 10 em? T AR 10 mA
1 Tarl GRT 10 mWb/m? T Yo &1 3cteet F §, A FSo F Webed P A0 Y

A coil wound on an ironcore has 200 turns and a cross sectional area of 10 em?2. Calculate the
inductance of the coil, if a steady current 10 mA produces a magnetic field of 10 mWh/m?2.

(@) 01H (b) 02H
(¢ 5H (d 10H

afy L & @AW SR el &) Sefadt & JEA U 1§, o 3eded Wehed A FT

If the coefficient of coupling of two coils having same inductance of L is 1, find the mutual
inductance

@ L ® VL
© 2L @ 1L

ﬁfawaaalggmm%ﬂamwgaaﬁaﬁmmﬁaﬁmmﬁl
Find the number of parallel paths in a four pole generator having simplex wave wound
armature winding.

(@) 1 ()
() 4 (d)
UF OraE @Ea e & el & 7w

The potential inside a conducting hollow sphere is

(3) ¥g ¥ WAE OF Uk THAW gl g / Constant throughout

(b) Fg W FWHIH grar %/ Maximum at Centre

() Tdg W HHIHA 81ar & / Maximum at surface

(d) Hg A HdAg dh tfX-fX §2aT ¥/ Gradually increasing from centre to surface

aa23ovﬁ1mmmaﬁrua?a?ma®rﬁ5oovmmwwmmm?
ar s A= g

When a square wave of 230 V peak amplitude is measured using a 500 V ac voltmeter, it will
read?

(a) 230V k) 2302V
© 230/42V (d) SIF | S 7L/ None of these
6 1490




=1

UH 4@ RLC @fe A R, L, C & ARl R dleedl HAT: 100 V, 200 V AT 200 V &
UG dlecel F4T 872

In o series RLC c¢irvcuit the voltages read at resonance across R, 1, C are 100 V, 200 V and
200 V respeciively. What is the applied voltage?

() K00V (b) 400V
(©) 200V d 100V

wR faward # 100Q, 3¢, FAfed AR 400 V o3l dicedt #T 3¢ 3M9fd & ST &1 HeRier
&Y FATH AfFaT W F2qT §?

100Q, 3¢, balanced load in star configuration is connected to a 3¢ supply of 400 V line
voltage. What is the minimum power rating of the resistor?

(a) 400W (b) 529W
(c) 1600W (d) 3er YT / Data incomplete

faato i & ®eex dseh # fagga Rvam= gar &

The two stator winding of a resolver has an electrical displacement of
(a) 60 (b) 90

o

() 120 (dy 180

°

o

= 7 ¥ FiF a1 e auma F7 89 & FRUT 32 g T YW F47 87

Which of the following is not the effect of cold joint due to low soldering temperature?

(a) &HH ﬁ?@gﬁ GfcRIeT / Low electrical resistance

(b) §@T HesT Ss/ Dry solder joint
() FH Tifa® AFT/ Low mechanical strength
(d) W« ﬁa:{l,?f dTelehdl / Poor electrical conductivity

facga sue & 2Re Rl et & oF A ged 9ed A AFd F & AT smavas smaw
&1 A g §

The quantity of charge required to liberate one gram equivalent of a substance during
clectrolysis is

(n) 193000 C (b) 6.66 x1018C
() 1.602 x 101°C (dy 96500 C

deashiell Hiet & WX faeh fagga ags g & qRAmT s s &

‘I'he magnitude of stator back emf in a synchronous motor depends on

(1) HIZT 9T ¥R/ Load on the motor (b)  HIeX T AT/ Speed of the motor
(¢) DC 3cdSRkT / DC excitation (d) 390aFd A/ All the above

7 1490



29,

30.

31.

32.

34 4 del, 50 Hz S35 #eT 1440 rpm H a0 & Feie &1 e grT & g §
A 3¢, 4 pole, 50 Hz induction motor runs at a speed of 1440 rpm. The frequency of rotor current is

(a) 50Hz (b)y 48Hz
(¢) 52Hz (d) 2 Hz

UF 3c9e] €U Uk af & 1752 x 10° kWh 3cqe= @ar &1 3ia #er &= &2

A generating station generates 1752 x 10° kWh in a year. What is the average demand?

(@) 1752 % 103 (b) 2% 10
@© 5x 105 @ 3504 x 108

mm#mwaﬁ?mﬁiﬁma?mmam%

The economic size of a conductor in a transmission line is determined by

(a) 3\ H FIA / Ohm’s law (b) TrTE® & FEH/ Kirchhoff's law
(c) W2 @1 A¥A / Faraday's law (d) feas & WIH/ Kelvin's law

wm&W*ﬁmaﬁ:mﬁmaﬁm,waﬂwWﬁéwmn V1, It 3R NI
% 3R efadvae dteear, arg R geTEl A wEar Fwn V2,12 AR N2 © A

For an ideal transformer, If the primary voltage, current and number of turns are V1, I1 and
N1 respectively and the secondary voltage, current and number of turns are V2, I2 and N2
respectively then

@ n.am w Anm
Ve 12 N2 V2 Il N2

Vi I2_ N2 Vil _I1_N2
© veTnTar @ vTnTm

aﬁmmwm?dmﬁmmaﬁmﬁmaﬁmﬁMﬁ

For an ideal transformer with noload, primary and secondary voltages are having

(a) HENT THT T &/ no phase difference

() Far 90 B ¥ =1 gl &/ phase difference of 90 degrees
(© @ar 120 &t & == &)dr 8/ phase difference of 120 degrees
(d) Fem 180 33 ¥ =T 8 ¥/ phase difference of 180 degrees

8 1490




33.

34.

35.

36.

37

UH UHA TOT 50 Hz R YHR & TEEFEC H 10 ecm ST H Th @6 &R B FqAT

-
HEFIH FaFE GedAcd 1 wb/m? g1 888/222 V ¥euid & AU I=w alets 9T W gAEl @I
FEAr i TEAT B
A single phase 50 Hz core type transformer has a square core of 10 cm side. Permissible

maximum flux density is 1 wb/m2. Calculate the number of turns on the high voltage side for
888/222 V ratio.

(2) 100 (b 200

(©) 400 (@ 800

FY-HT GBI F1 LT A1 TraiieE e qof dis Fie &t % Bl g1

The no load primary current of a step-up transformer is ————— % of the full load current.
(8) YFI/ zero (b) 59 AR/ below 5

() 508/ to 50 . (d) 95¥ FUT/above 95

U GEEET f T Hig P afFa cEeie ¥ @ gEeeR # ——— & FE gl B
The no load input power to a transformer is practically equal to —————— in the transformer.

(a) o &Y A/ copper loss

(b) e Fr @A/ iron loss
(¢) e A aiT a1 Hr 1R/ both iron and copper loss
(d) = ar g & g A T & die fT &/ neither iron loss nor copper loss

19 500 Hz gE®ET & 100 Hz 9 Haifda famar Sirar §, af saet KVA Heasdis
When a 500 Hz transformer is operated at 100 Hz, its KVA rating

(a) 98 @aT &/ Remains same
(b) 57T S JATAT %IIflcreases by 5 times

() b AT T SFTAT & / Decreases by 5 times
(d) 25 AT §¢ SATAT £ / Increases by 25 times

qg TRAEER S fedd arFar veT g FYar §

The trar.sformer that does not provide electrical isolation is

(a) ITarl TTHEHIHT / step up transformer

(b) 39T THWHT/ step down transformer
(¢) 3T STAWHT/ auto transformer
(dy 9T i'i'\qq?lﬁ'{‘l current transformer

9 1490




39.

40.

41.

42.

43.

K = 10 3iX R1 = 0.2 Ohm a1 TAEEFR & WUA® & AT FioRY 59 gfadas & f
Feia fFar s § Y 9g @ S §

The equivalent resistance of the primary of a transformer having K = 10 and R1 = 0.2 Ohg
when referred to secondary becomes

(a) 0.002 Ohm (b)  0.02 Ohm

() 2Ohm (d 20 Ohm

fordlr aTfceler ool IUsOT # JaFcH TAITYOT fFae ZarT fawraa fFar ST 2
In a moving coil instrument, the damping torque is developed by

(a) #aT 9T/ Eddy current (b) ag/ Air

(c) ITcATHIYT/ Gravity (d T grd/ Fluid

TATAR oilg TR & I3 T 939 Fas A9 F X Bvar sar 82

Moving iron type instruments are used for measuring
(a) 3&He AC/ AC alone

(b) 3 DC / DC alone

(c) @i/ Both AC 3/ and DC

(d) AC 3X DCH #1% 78T / Neither AC nor DC

gg 9o S AIYF IF F HHAH 1 IO AT T R F HUR W 3e0eT BT g, Foarr §

The Force which produces the movement of the pointer of a measuring instrument according
to the measured parameter is called

(a) TIFOT §& / controlling force (b) Ta89® FA/ deflecting force
(¢) NaHAEH & / damping force (@) fa=d® @/ distracting force

UHIeT # I3 9= & U/ In order to increase the range of an ammeter

(@) UF 3T 9y AR & AT ST &/ a high resistance is connected in parallel
(b) TH &A YAV AR H 3T AT &/ a low resistance is connected in parallel
(c) U 3= iy H@aT # ST ST &/ a high resistance is connected in series

(d) UF FA FWARNY @ H F31 AT &/ a low resistance is connected in series

o F T T FAT HeX FT IR §

Energy meter installed at households are
(a) HRRTAE 39907/ Indicating type instrument

(b) RIS YR T 39497/ Recording type instrument
(¢) Wikfas 3T RS g Fr 39FHIOT/ Indicating and recording type instrument
(d) Uﬁ% 9 &l 39HI0T/ Integrating type instrument

10 149




44.

45.

46.

47.

et afgyr 3, 8 Ohm It & Fa uRT IR AFT &7 FAM: g

In the circuit, the total current through 8 Ohm resistor and the power dissipation across

8 Ohm resistor are respectively,

1
——
= 1ov sa
(a) 8A IW (b) 6A,2W
(© 1A, 8W (d) 2A,6W

afr A 3R B RiGea e & e € 3R Ada X=(A.B) § ST swd afda i ¢
If A and B are inputs to a digital gate and output X =(A.B), the gate involved is

(a) ORJAT/ gate (b) AND AT/ gate

() NORWAT/ gate (d) NAND3JT/ gate

FeaR deedr o W vw Rfdwe SFee s Faiied e UF g &,
The minimum voltage at which a Silicon junction diode starts conducting 1s,

(@) 03V ® 07V
© 18V d 21V

=@ SR 8fFe & R 1 HIF A1q e

Find the value Rz in the following Zener circuit

R1 =500 Ohm R2

i=9mA
. i B ==
——— Y
il ‘ Z&Jvfsav
—— 30V
| S |
R3 =1500 Ohm
@) 5000 &) 1000 Q
(¢)y 1500Q (d) 2000 Q)
11
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48. WW‘L’&?H@%WEW‘R’Ohms@svaﬂﬁﬁﬁ#méaléw%gma
NI T AT d] ST ST §1 A AY AR & 9fay 4R ¥, O SEHR &Eg T HU

A Copper wire of certain length ‘L’ has a resistance of ‘R’ Ohms. It is drawn out to form a new
wire having different length, without change in volume. If the new resistance of wire 1s 4 R,
find the new length?

(8 16L by 4L
(¢ 2L (d L2

49, T GEd # GRRY F AGA IONF HONHT §| FHH HF ¥

A Material is having a negative temperature coefficient of resistance. That means,

(a) T9HTT T X TR dgdr & / Resistance increases when temperature 1ncreases

(b) dYATT qZT 9T T e &Y SITaT &/ Resistance decreases when temperature increases
() AW FA Bl W ARy de # ged ¥ / Resistance decreases rapidly when

temperature decreases

@) wfader wf auAET ) fBUX @aT &/ Resistance remains constant at all temperatures

50. T BT AU FUA F A vw OE & Al § F v A i B gl e U H aI
F

One of the below statements refer to one of the Kirchhoff's laws. Select the Correct statement

(a) Mmﬁﬁﬁ@aﬁ%maﬁmmmﬁmmﬁww%f

The current through a conductor between two points is directly proportional to the
voltage across the two points

(b) eaF & frdr off § ox urEd & RSO AT A & / The algebraic sum of the

currents at any jinction of a network is zero

© Ts@Eray & A9 yafgd URT & FAEEC g ¥ / The sum of potential drops is

proportional to the current
@ o ofr frey e @ RadH dadr g @ ot 8, a o fegd aew a@ aikd

gIdr & / Whenever a conductor is placed in a varying magnetic field, an electromotive

force is induced

51, 3re-aier 3N Rie-Rsedlt # s RS Y FET FA: §
The number of diodes used in a half-wave and bridge-rectifier are respectively

(@) 24 b 1,2
© 14 @ 21

A 12 1490



53.

54.

55.

TEphfEs aeE AR FO aeE H RHega dreedl 1 AW FARE mho/m # sEEd AT
AT B

The value of electrical conductivity of Aluminium Conductor and Copper Conductor expressed
in mho/m, are respectively,

(a) 28 mho/m, 35 mho/m (b) 35 mho/m , 56 mho/m
(¢) 56 mho/m , 35 mho/m (d) 35 mho/m, 28 mho/m

Prafaf@a gca-arae fre Rfacs de &1 yfafte & 82
Which digital gate does the following truth-table represent?

Inputs Qutput

A B Y

0 0 0

0 1 1

1 0 1

1 1 0
(a) AND (b) NAND
() OR (d XOR

Op-amp 15V 39l garr wanfora B1 H3eqe aredst Vo &1 AL glom
The Op-amp is powered by +15V supply. Find the output voltage Vo

1K
| S |
1K
AV I -
+ Vo
(a) 4V by -4V
(c} 8V (d -8V

A # 53 & WRRIUET F1 T 9RIY 810 Ohms ¥ g SfRIGT & AWl F A 45 T
I At FAWIER & 3 8 o wemer JieRie w2y gen?

Two resistors connected in series has an effective resistance of 810 Ohms. The ratio of the
values of these resistors is 4:5. What is the effective resistance if both are connected in
parallel?

(a) 100Q ® 200Q
(¢ 300Q d 400Q

13 1490



56. AR, 1,-2,4,-8,... HT 847 ug &
The 8th term of the Progression, 1,24, 8 18

(a) 16 (b) -16
(c) 128 (d) -128

57. Th el S & fAT 4V & ¢ @, o 9% o & HiaR®d 9EAOY 400m Ohm 2,
FAAIR A 2 g 81 & 1A Tog 0N & yarea & o1 &, ar R o iRt e w4

4 Cells each of 4V, each having internal resistance of 400 m Ohm, are connected in parallel, to
form a battery. If 1A is flowing through the connected load, find resistance of load?

(a) 3.6Q (b) 39Q
(¢ 40Q (d 410

58. Feel-forh A, AN A, Reat 3ifFase A9, 5% 3e@eor &

Carbon-Zinc Cell, Mercury Cell, Silver Oxide Cell, are examples of,

(a) WIITAF A/ Primary Cells

(b) FeAfAF A / Secondary Cells
(¢ darwaPs i a & AR A/ Neither Primary Nor Secondary Cells
(d) FS TITRF IR 3T Area@e o &/ Some are Primary and others Secondary Cells

59. A ¥ frE afarerd 3UEROT F R @ HOF due Sieee 82
Which among these semiconductor devices, has more than one P-N junction?
(a8) SIeX SIS / Zener diode (b) LED
(0 UJT ) (d BJT

60. THa-FsfPrad e & day & oot ¥ Fla 1 T A 7
Which of these statements is correct, with respect to Nickel-Cadmium cell?

(a) Taega Iuucy HeS0: ¥ 3 3 Rars. 1.2 VAT ¥ / Electrolyte is H2SO4 and
average e.m.fis 1.2 V/Cell

(b) ﬁﬂ:g?f HIaeT HiS80: g 3R 3ilwa [Jars. 2.vae & / Electrolyte is H280; and average
e.m.fis 2.1V/Cell

(©) fgge qued KOH § 3R 3hwa Rara. 1.2VAF ¥/ Electrolyte is KOH and average
e.m.fis 1.2V/Cell

(d) faaga Iqucd KOH & 3R 3itya fgars. 2.avea & / Electrolyte is KOH and average
e.m.fis 2.1V/Cell

A 14 1490




61 T 9,0) M (G W TR dTell [@T FT FHSOT AT HIFSC
Il the equation of line passing through points (9,1) and (5,9).

)y Ox 27 (b) 2y =—-x +18
() vy o 2x-Y (d) yv=-2x+19

G2 Cl UFINEIY &7 aicesT oy w98 348« giar &
The voltage gain of a CE amplifier is highest at

(n) 3= Hlﬁ(ﬁ?l/ High frequency

by @ 3“@_’1?—?[ / Low frequency

(0 #AYg 3-“3[1:('7'[ / Mid frequency
(d) Y 3?!3‘_1??1'&)[ WX "AA / Equal at all frequency

63. FoTE ‘B TrehwrR & Bta anr vaika gar ¥

In class ‘B’ amplifier, the output current flows for

(a) IS & A fAfdse UF / Less than half input cycle

(b) 3 fafasT =@ / Half input cycle
() I ¥ 3¥0% fAfasc ¥k / More than half input cycle
(d) H{Ui' fafase a% / Entire input cycle

64. Uk Op-amp & fafrse @Afgse 3k R wfader §

The typical input and output resistances of an Op-amp are

(a) 2MQ, 20Q (by 2k, 200kQ
(c) 200kQ, 2kQ d 2 2MQ

65. UTaRIte, FUTRT T W& 6 T Aeeddr HAM: §

The mechanical analogy of resistor, capacitor and inductor are respectively

(a) To&¥9T, gegse AR udoT dea/ Springs, masses and friction elements

(b) gEFA, Foue 3 =TT dca / Masses , Springs, and friction elements
(0 g, g¥ur gea 3 BT/ Masses, friction elements and Springs
(d) =¥UT Tcg, fuer 3R geaHAE / friction elements, Springs and masses

A 15 1490




66.

67.

68.

69.

70.

TH T FIAHET & 9 90 F dfsd HA: 5 dB, 10 dB, 15 dB 3R 20 dB &1 @
T AT &

The gain of four stages of a cascade amplifier are 5 dB, 10 dB, 15 dB and 20 dB respectively
Its overall gain is

(a) 1500dB (b) 504dB
{c) 15000dB (d) 20dB

CRO & ®RF 5 Viem W T &1 afg AC s Y Ff 5918 5 cm § o I§ goialr &

The screen of a CRO is set for 5 V/icm. If the total height of an AC signal is 5 cm then it
represents

(a) 25d1%T rms/ Volt rms

(b) 25 diee RWT/ Volt peak
() 25 dlee WY & fAWT/ Volt peak to peak
(d) 12.5 areT @Y ¥ AW & / Volt peak to peak

v SioRIUF F1 4T F5 83 ITHA Fel, &0, 09U AN GAew §, & 0 AT @
A resistor has a colour code band sequence of black, green, brown and golden, then its value is

(a) 50Q+5% by 5Q+5%
(©) 500Q5% d 5MQ5%

afg Wfelr 9@ & gufiy & AaiE g & Ryl F aamar se ar a8
If a ceiling fan is powered on in capacitor shorted condition, then it will

(a) o EI‘?FJTT / Run slowly

® IR F @y E'T\JEMT/ Run with noise
() IR & Ty W—%ﬁ;' g E@TI'H Run intermittently with noise
(d) =g EI‘:JQI?I'I'/ Not run

FRET & g6 & FEAfaf@T F @ 5 @ srucy w98 &7
Which of the following is NOT FALSE regarding corona?

(a) BT fdegd URT FT vH yf$sar &/ Corona is a current phenomena

(b) AT HAT AoedT ¥ FA dleesT YT il &/ Corona takes place at a voltage lower than
breakdown voltage

() PAT Had Gieear 4 AF alecor 9T €11 ¢ / Corona takes place at a voltage higher

than breakdown voltage
(d) RAT THAAYT FSA G&IaT F&Tar £/ Corona increases the transmission line efficiency
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72.

73.

74.

75.

WWWWW&EW*WﬁWW&#WW@

Which type of relay hold their contacts in position even after power is cut off?
(a) WfR R/ Latching Relay

(b) &t RN Rer/ Non latching Relay

(@ dftEr 3R Sia-dfer R 21T/ Both Latching and non-latching relays
@) FFd F & F$ A8/ None of the above

mmmmaﬁrﬁﬁ@ﬁmaﬁﬁﬂaﬁmmn kil 14
4

The material used in electrical heating elements of domestic heaters and industrial furnace

are and respectively.

(a) FﬂSEhﬁTT A Ty / Nichrome and silver

(b) arar 3T ABHHA / Copper and Nichrome
(© drar 3t FUe / Copper and Kanthal

(@) s 3R FU / Nichrome and Kanthal

ey TEAr 1011 FT AT HAJed

The decimal equivalent of the binary number 1011

(a) 8 by 9

() 10 . @ 1

1MB &

1MB is

(a) 0.001GB (b) 1000 TB
(0 100KB (d) 10000 Byte

512 F ZAFAT AT 3T TFR @1 S g &

The decimal value of 512 can be written as

(a) 2¢ (b) 27
(c) 28 d 28
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76. WAg ¥ “d’ g W W T YT AT ¥ FAg W AN A g HaR e ¥

The illumination at a surface from a source of light placed at a distance “d” from the surfacc

78.

79.

80.

varies as

(@) = (b)

© = (d)

aeT i g &

The unit of illumination is
(2) ®#A/Lumens (b)
(¢) 'TIFIF/ Steradian (d)

CIRH & o W1 7 qeeed §

The wavelength of red colour in Angstrom is

(a) 3000 TIEETA / angstroms (b)
(¢) 7000 UIIESTH / angstroms (d)

AIN AYST &7 I9 ¢

Megger is an instrument to measure

() FF 9fAVT/ Low resistance (b)
(¢) 3T dleesT / High Voltage (d)
2 75
feam srar Afgrm A=|7 4 8] B
b 8 &

Given a matrix. The matrix is A=

LU N I ]
0 = =3
0o O

(a) dcHAF 3TcYg / Identity matrix

() Toww TafdT Hegg / Skew symmetric matrix

(c) THIAT 3iTeqg / Symmetric matrix
(d) ET 31eYg / Null matrix

&

F2a1/ Candela
oFd / Lux

5000 TIRCIH / angstroms
9000 (i?li-_g\l"ﬂ’/ angstroms

3Ta 9fader / High resistance
3Eg 90/ High Current
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